

Serum Vitamin D Level and Hypertensive Crises

Hamid Reza Rashidinejad¹, Foad Amanollahi², Hossein Safizadeh³,
Mansour Moazenzadeh^{1*}

¹ Cardiologist, Cardiovascular Research Center, Institute of Basic and Clinical Physiology Sciences, School of Health, Kerman University of Medical Sciences, Kerman, Iran

² Resident of cardiology, Clinical Research Unit, Shafa Hospital, Kerman University of Medical Sciences, Kerman, Iran

³ Community medicine, Social Determinants of Health Research Center, Institute for Futures Studies in Health, Kerman University of Medical Sciences, Kerman, Iran

ARTICLE INFO

Article type:
Original Article

Article history:
Received: 05 Aug 2018
Revised: 20 Nov 2018
Accepted: 27 Nov 2018

Keywords:
Hypertension
Hypertensive Crises
Vitamin D Level

ABSTRACT

Introduction: Vitamin D deficiency is associated with hypertension; however, there is no study on the relationship between vitamin D deficiency and hypertensive crises. This study aimed to determine the relationship between serum vitamin D levels and hypertensive crises.

Material and Methods: This descriptive-analytical, cross-sectional study was conducted on 120 individuals in Shafa Hospital in 2016 within the age range of 40-80 years, selected through simple random sampling technique. The research population was divided into two groups of hypertensive crises (n=60) with blood pressure over 180/120 mm/Hg and hypertensive patients without history of hypertensive crises (n=60). For the purpose of the study, 5 ml peripheral venous blood samples were collected. The blood serum was isolated by a centrifugal device, and the serum vitamin D levels were analyzed by radioimmunoassay.

Results: The mean levels of vitamin D in hypertensive and non- hypertensive crises groups were 29.73 and 30.23 ng/ml, respectively. There was no significant difference between the two groups in terms of vitamin D levels ($P>0.05$). However, no statistically significant difference was observed between the two groups considering gender ($P>0.05$). Serum vitamin D levels showed a direct correlation with the duration of hypertension and age ($P<0.05$ and $P<0.01$, respectively). In addition, there was a significant correlation between serum vitamin D levels and the number of hypertensive crises over the past year. In this regard, the reduction of serum vitamin D levels was accompanied with the enhancement of the number of hypertensive crises ($P<0.01$).

Conclusion: There is evidence on the relationship between serum vitamin D levels and cardiovascular diseases, including hypertension. Nonetheless, in the present study, no significant relationship was observed between serum vitamin D level and hypertensive crises.

► Please cite this paper as:

Rashidinejad HR, Amanollahi F, Safizadeh H, Moazenzadeh M. Serum Vitamin D Level and Hypertensive Crises. J Cardiothorac Med. 2018; 6(4): 384-389.

Introduction

Hypertension defined as systolic and diastolic blood pressure above 140 and 90 mmHg, respectively, in patients currently taking antihypertensive medication or diagnosed with hypertension for a minimum of two times by a

physician. It is one of the most common chronic medical conditions that affect 72 million people in the United States.

Systolic blood pressure above 180 mmHg or diastolic over 120 mmHg in hypertensive

*Corresponding author: Mansour Moazenzadeh, Cardiovascular Research Center, Institute of Basic and Clinical Physiology Sciences, School of Health, Kerman University of Medical Sciences, Kerman, Iran. Tel: 03432115405; Fax: 03432115803; Email: Mmoazenzadeh170@gmail.com

© 2018 mums.ac.ir All rights reserved.

This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/3.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

patients are known as hypertensive crises (1). Hypertensive crises, divided into hypertensive emergencies and urgencies, are differentiated by the presence or absence of end-organ damage, respectively. It is important to separate these two categories for the adoption of proper therapeutic procedures. In hypertensive emergencies, the blood pressure should be reduced rapidly, not necessarily to the normal level, while in hypertensive urgencies, it should be reduced within 24-48 h (2-3).

Annual mortality rate in untreated hypertension is 79% with a mean survival rate of 10.5 months. Prior to the emergence of antihypertensive drugs, about 7% of people with hypertension had hypertensive crises (4). Hypertensive crises are more prevalent in the elderly and non-Hispanic black population; however, men are affected two times more often than women. The most common cause of hypertensive crises is chronic hypertension with an acute exacerbation (5). The main and possible causes of hypertension can be genetic disorders in renal sodium excretion, as well as in sodium and calcium transmission in smooth muscle cells, changes in the angiotensin-encoding genes and other proteins in the renin-angiotensin system, and vasoconstriction due to hormonal-neurogenic causes. In addition, environmental factors have a significant impact on blood pressure (6).

Vitamin D deficiency is a common medical problem in the world, especially in populations living in temperate regions (7). Living conditions, such as low outdoor activities, environment, and air pollution, result in low contact with ultraviolet radiation. Lack of exposure to ultraviolet radiation, which is needed for vitamin D production, can cause vitamin D deficiency. Furthermore, factors, such as high-altitude, industrial cities, and dark skin, lead to the reduction of vitamin D production, which results in hypertension (8).

Vitamin D regulates calcium and bone homeostasis, and its receptor is present in many tissues, such as vascular endothelium and myocardial tissue. This indicates the biological role and function of vitamin D, which can suppress renin production by affecting the juxtaglomerular system (9).

Vitamin D can lead to the suppression of parathyroid hormone and pro-inflammatory cytokine production. In addition, there are a number of possible pathophysiological pathways that show the effects of vitamin D and vascular protection against hypertension (10). Moreover, observational studies suggest that a low level of vitamin D is associated with high blood pressure. They also revealed a high chance of developing

hypertension is correlated with the increased risk of mortality and high levels of cardiovascular events in the future (11-13).

According to the third National Health and Nutritional Examination Survey, systolic blood pressure and pulse pressure have a reverse and significant relationship with vitamin D levels. It has also been proved that people with a sufficient level of vitamin D have low systolic blood pressure.

In another study, the prevalence of hypertension was demonstrated to have an association with a low level of vitamin D (14-17). According to the above mentioned results and due to the lack of study on the association between vitamin D deficiency and hypertensive crises, the present study aimed to assess the relationship between serum vitamin D levels and hypertensive crises.

Materials and Methods

This descriptive-analytical, cross-sectional study was conducted on 120 all hypertensive patients in Shafa Hospital, Kerman, Iran in 2016 within the age range of 40-80 years, referring to the Cardiac Emergency Department. The study population was selected through simple random sampling technique. The participants were assigned into two groups of hypertensive crises (n=60) and non-hypertensive crises (n=60). The hypertensive crises group consisted of the patients with a blood pressure of over 180/120 mm/Hg who were admitted to the emergency department. On the other hand, the non-hypertensive crises group contained patients with hypertension regardless of any history of hypertensive crises in the past one year admitted for other etiologies.

Hypertensive crises was defined as the frequency of admission due to hypertensive crises over the past year. The two groups were matched in terms of age and gender. Age range of 40-80 years and non-smoking were considered as the inclusion criteria. On the other hand, the exclusion criteria were: 1) age of < 40 or > 80 years, 2) smoking, 3) secondary hypertension, 4) history of renal disease, 5) consumption of vitamin D over a past year, and 6) acute illness, 7) recent history of acute or chronic hepatitis or renal disease, hypercortisolism, and malabsorption, 8) breastfeeding and pregnancy, 9) alcohol consumption, and 10) administration of drugs affecting the level of 25-hydroxy vitamin D.

All patients were informed about the research process, and the written consents were also obtained from them. Demographic forms were filled out for each subject, containing information, such as age, gender, duration of

hypertension, and number of hypertensive crises over the past year. The blood pressure of the patients was measured using the Riester Germany mercury barometric instrument twice with a 15-minute interval.

In the next stage, 5 cc blood samples were collected from the peripheral venous, and the serum was separated by UNIVERSAL centrifugal device at 4000 rpm for 5 min. Moreover, the serum level of vitamin D was determined by radioimmunoassay. The measurement of vitamin D level was accomplished by using the Monobind kit manufactured in the USA. A biochemical study was performed for all patients in a single laboratory with a standard method, and common quality control techniques were used to ensure the accuracy of the tests throughout the duration of the laboratory tests. The sensitivity of the kit was 0.67 ng/ml for the measurement of serum vitamin D level.

The data were analyzed in SPSS software (version 18). The quantitative data were described using the central and dispersion indicators. Mann-Whitney U and Pearson correlation test was also utilized to analyze the data.

Results

Based on the data, the hypertensive and non-

hypertensive crises groups entailed 39 and 40 females, respectively. The mean ages of the hypertensive and non-hypertensive crises groups were 64.47 ± 11.28 and 64.45 ± 10.01 years, respectively (Table1). Moreover, the mean serum vitamin D levels in the hypertensive and non-hypertensive crises groups were obtained as 29.73 ± 23.14 and 30.23 ± 32.98 ng/ml, respectively (Table2).

Given the non-normal distribution of serum vitamin D levels in the two groups ($P < 0.0001$), Mann-Whitney U test was used to compare this variable levels between the research groups. The results showed no significant difference between the two groups in terms of serum vitamin D levels ($P = 0.169$). Furthermore, there was no correlation between serum vitamin D level and gender in any of the groups (Table2).

Serum vitamin D levels was also directly associated with the duration of hypertension and patients' age (Table3). In patients with hypertensive crises, there was an indirect correlation between serum vitamin D levels and the number of hypertensive crises during the past year ($P = 0.005$, $r = -0.356$). In this regard, with a decrease in serum vitamin D level, the number of hypertensive crises increased and all the correlation found in our study were weak.

Table 1. Patients' characteristics according to the hypertensive crises

Variable	With crises	Without crises
Sex		
Female (%)	39 (65)	40 (66.67)
Male (%)	21 (35)	20 (33.3)
Age (Mean $\pm$ SD*)	11.28 ± 64.47	10.01 ± 64.45
Number of years with hypertension (Mean $\pm$ SD*)	5.70 ± 7.82	6.08 ± 9.12
Number of crises in year (Mean $\pm$ SD*)	0.80 ± 1.12	-

* Standard Deviation

Table 2. Serum vitamin D levels in patients with and without hypertension crises

Variable	Mean of vitamin D level	SD*	Median	Min	Max	Statistic	P.value
With crises	Total	29.73	23.15	20.85	8.10	83.90	391.00
	Female	30.49	23.57	22.70	8.10	83.90	
	Male	28.31	22.85	19.90	9.20	81.80	
Without crises	Total	30.23	32.98	14.90	8.10	126.0	368.00
	Female	33.39	35.17	15.15	8.10	125.40	0.612
	Male	23.94	27.87	12.50	8.10	126.0	

* Standard Deviation

Table 3. Correlation between age, years with hypertension and vitamin D levels according to Pearson correlation test

	Age	Number of years with hypertension	Serum vitamin D level
Age	-	$r = 0.383$ $P < 0.0001$	$r = 0.259$ $P = 0.004$
Number of years with hypertension	$r = 0.368$ $(P < 0.001)$	-	$r = 0.211$ $P = 0.02$
Serum vitamin D level	$r = 0.265$ $(P = 0.003)$	$r = 0.165$ $(P = 0.072)$	-

Discussion

Vitamin D plays a leading extracellular role in the function of various tissues. Different studies have shown vitamin D inhibitory effects on renin-

angiotensin system, coronary calcification, proliferation of smooth muscle cells, and myocardial hypertrophy. In addition, in recent

years, several studies have examined the relationship between serum vitamin D levels and cardiovascular events.

In a study conducted by Yarjanli et al, serum vitamin D levels was reported to be associated with cardiovascular events (18). Wang et al. studied the effect of serum vitamin D levels on cardiovascular events in Harvard University and reported an effect level of below 15 ng/ml. This increased risk was more pronounced in patients with hypertension. In a study performed on patients with hypertension, 15.3% of the subjects had hypertensive crises during the follow-up and 84% of the cases had symptoms associated with high blood pressure.

Moreover, factors, such as female gender, obesity, coronary artery disease, and no medication use, were revealed to have association with hypertensive crises (19). The results of several randomized controlled trials investigating menopausal women in Europe over a 7-year follow-up revealed that the combination of calcium and vitamin D would not reduce blood pressure or the risk of developing blood pressure. However, few studies have shown the relationship between vitamin D and high blood pressure in menopausal women in Asia (20-22).

In one study, vitamin D deficiency in menopausal women has been noted. The results of the mentioned study demonstrated that systolic and diastolic blood pressure in women with serum vitamin D levels below 15 ng/ml was higher than those with serum vitamin D levels above 15 ng/ml. It was also found that women with lower education levels and obesity had a higher risk of hypertension (23). In addition, hypertensive crises as hypertension was common in elderly people and was twice more prevalent in men than in women (5).

The results of the present study were not consistent with the mentioned findings. In the present study, there was no relationship between serum vitamin D levels and hypertensive crises. Moreover, no relationship was observed between gender and serum vitamin D levels in both groups with and without hypertensive crises. vitamin D deficiency is associated with living conditions, such as high altitude, low outdoor activity, air pollution, industrialization of cities, and dark skin, which results in lower vitamin D production and high blood pressure (8).

Based on the third National Health and Nutritional Examination Survey, systolic blood pressure and pulse pressure have an indirect relationship with vitamin D levels. It has also been shown that people with a sufficient level of vitamin D have lower systolic blood pressure. In another study, hypertension was reported to be associated with low levels of vitamin D (14-17).

In a study conducted on elderly people with vitamin D deficiency, systolic blood pressure was 9% lower in patients using vitamin D and calcium supplementation in comparison to that in the patients just consuming calcium (24). In another study, a direct correlation was observed between vitamin D deficiency and the incidence of hypertension regardless of age, physical activity, body mass index, race, and menopausal status (11).

In a broad study, there was no relationship between the intake of oral vitamin D and the incidence of hypertension (25). However, in the current study, a significant correlation was obtained between age and serum vitamin D level in both groups. Therefore, it can be concluded that the level of vitamin D increased with aging. In a recent clinical study, it was found that vitamin D supplements would not reduce blood pressure in patients with prehypertension and stage I hypertension (26).

In a study performed in Korea, it was shown that patients with hypertension had low serum vitamin D levels. In the mentioned study, serum vitamin D levels showed an indirect relationship with abdominal obesity, hypertriglyceremia, and high blood pressure (27). The results of a meta-analysis showed a small but significant decrease in diastolic blood pressure among the people taking vitamin D supplementation; however, this reduction was not observed in systolic blood pressure.

Systolic blood pressure showed a higher reduction in people taking the inactive form of vitamin D than in those consuming the active form. However, in people with normal baseline blood pressure, the consumption of vitamin D did not reduce blood pressure (28).

In a review article, it reviews whether serum vitamin D concentration plays an important role in causing hypertension or not. Because of the opposing consequences of different reviews on the role of vitamin D in preventing hypertension development or its treatment, it appears that vitamin D levels in the body modulate the blood pressure indirectly and it suggested that physicians should keep a check on the vitamin D levels of their patients in order to curb the ever-increasing incidence of hypertension (29).

In another review article, to date, the results of RCTs and meta-analysis of them do not support the use of vitamin D or its analogues as an individual patient treatment for hypertension or as a population-level intervention to lower BP. Those discrepancies might be due to heterogeneity of patient baseline characteristics, differences in sample size and follow-up periods, and different vitamin D doses. However, many experimental and epidemiologic studies showed

possible roles of vitamin D in controlling BP in various ways (30).

Conclusion

As the findings of the present study indicated, vitamin D was associated with the level of blood pressure and incidence of cardiovascular disease. So far, no studies have examined the relationship between serum vitamin D levels and hypertensive crises. However, our results revealed no relationship between serum vitamin D levels and hypertensive crises. The findings of the current study could provide a good starting point for further research. Other researchers are recommended to take effective steps to improve the health of public in the future.

Acknowledgments

None.

Conflict of Interest

The authors declare no conflict of interest.

References

- Varon J. The diagnosis and treatment of hypertensive crises. *Postgrad Med*. 2009; 121:5-13.
- Joint National Committee on Prevention, Detection, Evaluation, and Treatment of High Blood Pressure. The 6th report of the joint national committee on prevention, detection, evaluation, and treatment of high blood pressure. *Arch Intern Med*. 1997; 157:2413-46.
- The 1984 report of the joint national committee on detection, evaluation, and treatment of high blood pressure. *Arch Intern Med*. 1984; 114:1045-57.
- Laragh J. Laragh's lessons in pathophysiology and clinical pearls for treating hypertension. *Am J Hypertens*. 2001; 14:837-54.
- Rodriguez MA, Kumar SK, Decaro M. Hypertensive crisis. *Cardiol Rev*. 2010; 18:102-7.
- Aalami S, Nikoui V, Irani M, Bakhtiarian A. Plasma zinc levels in normotensive and hypertensive adults: a comparative study in Tehran Heart Center. *Tehran Univ Med J*. 2012; 70:416-22.
- Hyppönen E, Power C. Hypovitaminosis D in British adults at age 45 y: nationwide cohort study of dietary and lifestyle predictors. *Am J Clin Nutr*. 2007; 85:860-8.
- Rostand SG. Ultraviolet light may contribute to geographic and racial blood pressure differences. *Hypertension*. 1997; 30:150-6.
- Yuan W, Pan W, Kong J, Zheng W, Szeto FL, Wong KE, et al. 1, 25-dihydroxyvitamin D3 suppresses renin gene transcription by blocking the activity of the cyclic AMP response element in the renin gene promoter. *J Biol Chem*. 2007; 282:29821-30.
- Schleithoff SS, Zittermann A, Tenderich G, Berthold HK, Stehle P, Koerfer R. Vitamin D supplementation improves cytokine profiles in patients with congestive heart failure: a double-blind, randomized, placebo-controlled trial. *Am J Clin Nutr*. 2006; 83:754-9.
- Forman JP, Giovannucci E, Holmes MD, Bischoff-Ferrari HA, Tworoger SS, Willett WC, et al. Plasma 25-hydroxyvitamin D levels and risk of incident hypertension. *Hypertension*. 2007; 49:1063-9.
- Melamed ML, Michos ED, Post W, Astor B. 25-hydroxyvitamin D levels and the risk of mortality in the general population. *Arch Intern Med*. 2008; 168:1629-37.
- Dobnig H, Pilz S, Scharnagl H, Renner W, Seelhorst U, Wellnitz B, et al. Independent association of low serum 25-hydroxyvitamin D and 1, 25-dihydroxyvitamin D levels with all-cause and cardiovascular mortality. *Arch Intern Med*. 2008; 168:1340-9.
- Scragg R, Sowers M, Bell C. Serum 25-hydroxyvitamin D, ethnicity, and blood pressure in the Third National Health and Nutrition Examination Survey. *Am J Hypertens*. 2007; 20:713-9.
- Judd SE, Nanes MS, Ziegler TR, Wilson PW, Tangpricha V. Optimal vitamin D status attenuates the age-associated increase in systolic blood pressure in white Americans: results from the third National Health and Nutrition Examination Survey. *Am J Clin Nutr*. 2008; 87:136-41.
- Martins D, Wolf M, Pan D, Zadshir A, Tareen N, Thadhani R, et al. Prevalence of cardiovascular risk factors and the serum levels of 25-hydroxyvitamin D in the United States: data from the Third National Health and Nutrition Examination Survey. *Arch Intern Med*. 2007; 167:1159-65.
- Hintzpeter B, Mensink GB, Thierfelder W, Müller MJ, Scheidt-Nave C. Vitamin D status and health correlates among German adults. *Eur J Clin Nutr*. 2008; 62:1079-89.
- Yarjanli M, Hosseini F, Sheikholeslami F, Azizi F. Association between vitamin D deficiency and cardiovascular disease. *Iran J Endocrinol Metab*. 2011; 12:520-8.
- Wang Y, Wang QJ. The prevalence of prehypertension and hypertension among US adults according to the new joint national committee guidelines: new challenges of the old problem. *Arch Intern Med*. 2004; 164:2126-34.
- Margolis KL, Ray RM, Van Horn L, Manson JE, Allison MA, Black HR, et al. Effect of calcium and vitamin D supplementation on blood pressure: the women's health initiative randomized trial. *Hypertension*. 2008; 52:847-55.
- Li L, Yin X, Yao C, Zhu X, Wu X. Vitamin D, parathyroid hormone and their associations with hypertension in a Chinese population. *PloS One*. 2012; 7:e43344.
- Chan R, Chan D, Woo J, Ohlsson C, Mellström D, Kwok T, et al. Serum 25-hydroxyvitamin D and parathyroid hormone levels in relation to blood pressure in a cross-sectional study in older Chinese men. *J Hum Hypertens*. 2012; 26:20-7.
- Shin JH, Lee HT, Lim YH, Park HC, Shin J, Kim KS, et al. Defining vitamin D deficiency and its relationship to hypertension in postmenopausal Korean women. *J Womens Health*. 2015; 24:1021-9.
- Pfeifer M, Begerow B, Minne HW, Nachtigall D, Hansen C. Effects of a short-term vitamin D (3) and calcium supplementation on blood pressure and parathyroid hormone levels in elderly women. *J Clin Endocrinol Metab*. 2001; 86:1633-7.
- Forman JP, Bischoff-Ferrari HA, Willett WC,

- Stampfer MJ, Curhan GC. Vitamin D intake and risk of incident hypertension: results from three large prospective cohort studies. *Hypertension*. 2005; 46:676-82.
26. Arora P, Song Y, Dusek J, Plotnikoff G, Sabatine MS, Cheng S, et al. Vitamin D therapy in individuals with prehypertension or hypertension: the DAYLIGHT trial. *Circulation*. 2015; 131:254-62.
27. Kim MK, II Kang M, Won Oh K, Kwon HS, Lee JH, Lee WC, et al. The association of serum vitamin D level with presence of metabolic syndrome and hypertension in middle-aged Korean subjects. *Clin Endocrinol*. 2010; 73:330-8.
28. Witham MD, Nadir MA, Struthers AD. Effect of vitamin D on blood pressure: a systematic review and meta-analysis. *J Hypertens*. 2009; 27:1948-54.
29. Mehta V, Agarwal S. Does vitamin D deficiency lead to hypertension? *Cureus*. 2017; 9:e1038.
30. Jeong HY, Park KM, Lee MJ, Yang DH, Kim SH, Lee SY. Vitamin D and hypertension. *Electrolyte Blood Press*. 2017; 15:1-11.